3. 
$$J = \int \frac{dx}{1 + \sin x - \cos x}$$

Ans: Put 
$$U = \tan \frac{x}{2} \Rightarrow dU = \frac{1}{2} \sec^2 \frac{x}{2} \cdot dx$$

$$\sec^2 \frac{x}{2} = \frac{1}{\cos^2 \frac{x}{2}} = 1 + U^2$$

$$\int_{0}^{2\pi} dx = \frac{2 du}{1 + u^{2}},$$

by Eng. Mohammed Emad

Sin 
$$x = 2 \sin \frac{x}{2}$$
. Cos  $\frac{x}{2} = 2$ . Lng. Mohamr  $\frac{1}{1+u^2}$ . Then

Cos 
$$x = 2 \cos^2 \frac{x}{2} - 1 = \frac{2}{1 + u^2} - 1 = \frac{2 - 1 - u^2}{1 + u^2}$$

Then

$$\int \frac{2 \, du}{1 + u^2}$$

Cos  $x = \frac{1 - u^2}{1 + u^2}$ 

Then

$$\int \frac{2 \, du}{1 + u^2}$$

$$J = \begin{cases}
\frac{2 du}{1 + u^2}, & \text{Then} \\
1 + u^2 = 1 \\
1 + u^2
\end{cases}$$

$$J = \begin{cases}
\frac{2 du}{1 + u^2} - \frac{1 - u^2}{1 + u^2} = 2
\end{cases}$$

$$J = \begin{cases}
\frac{2 du}{1 + u^2} - \frac{1 - u^2}{1 + u^2} = 2
\end{cases}$$

$$J = \begin{cases}
\frac{du}{u(u+1)}, & \text{using Partial Fraction, Fron} \\
\frac{du}{u} - \int \frac{du}{u+1} = A
\end{cases}$$

$$J = \begin{cases}
\frac{du}{u} - \int \frac{du}{u+1} = A
\end{cases}$$

$$= \ln |u| - \ln |u+1| + C$$

$$= \ln \left| \frac{\tan x}{x} + 1 \right| + C$$

$$= \ln \left| \frac{\tan x}{x} + 1 \right| + C$$

$$U(U+1) = \frac{A}{U} + \frac{B}{U+1}$$

$$A(U+1) + B \cdot U = 1$$

$$A = 1$$

$$B = -1$$

$$C$$

(4) 
$$I = \int \frac{dx}{\sin x - \tan x}$$

Ans:

$$T = \int \frac{dx}{\sin x - \frac{\sin x}{\cos x}} = \int \frac{\cos x}{\sin x \cdot \cos x - \sin x} dx$$

Put  $U = tan \frac{x}{2} \Rightarrow dU = \frac{1}{2} sec^2 \frac{x}{2} dx$ 

$$dx = \frac{2 du}{1 + u^2}, \sin x = 2 \sin \frac{x}{2}.\cos \frac{x}{2}$$

$$\frac{1+u^2}{1+u^2}, \cos x = 2 \cos^2 \frac{x}{2} - 1 = \frac{2}{1+u^2} - 1$$

$$\cos x = \frac{1 - u^2}{1 + u^2}, \text{ Then}$$

$$I = \int \frac{\frac{1-u^2}{1+u^2} \cdot \frac{2.du}{1+u^2}}{\frac{2u(1-u^2)}{(1+u^2)^2} - \frac{2u}{1+u^2}} = \int \frac{2(1-u^2)}{2u(1-u^2) - 2u(1+u^2)} du$$

$$= \int \frac{1-u^2}{u-u^3-u-u^3} du = \int \frac{1-u^2}{-2u^3} du = \frac{-1}{2} \left[ \int \frac{du}{u^3} - \int \frac{du}{u} \right]$$

$$= \frac{-1}{2} \left[ \frac{u^{-2}}{-2} - \ln |u| \right] + C = \frac{1}{4 u^2} + \frac{1}{2} \ln |u| + C$$

$$= \left\{ \frac{1}{u \tan^2 \frac{\alpha}{2}} + \frac{1}{2} \ln \left| \tan \frac{\alpha}{2} \right| + C \right\}$$



(5) 
$$\mathcal{I} = \int \frac{\chi^3}{\sqrt[3]{3-\chi^2}} d\chi$$

ANS: Put  $U = \sqrt[3]{9-\chi^2} \Rightarrow U^3 = 9-\chi^2 \Rightarrow \chi^2 = 9-U^3$ , Then

$$2x dx = -3u^2 du$$
. Then

$$\chi = \int \frac{\chi^2 \cdot \chi \cdot d\chi}{\sqrt[3]{3-\chi^2}} = \frac{1}{2} \int \frac{(3-u^3) u^2 du}{u}$$
 Eng. Mohammed Emad

$$= \frac{-3}{2} \int (9u - u^4) du = \frac{-3}{2} \left( \frac{9}{2} u^2 - \frac{1}{5} u^5 \right) + C$$

$$= \sqrt{\frac{3}{10} (9 - \chi^2)^{\frac{5}{2}}} - \frac{27}{4} (9 - \chi^2)^{\frac{2}{3}} + C$$

$$(42) I = \int \frac{dx}{5 \cos x - 3 \sin x + 1}$$

Ans: Put 
$$u = \tan \frac{x}{2} \Rightarrow du = \frac{1}{2} \sec^2 \frac{x}{2} dx$$

$$dx = \frac{2 du}{1 + u^2}$$
Then

$$I = \int \frac{\frac{2 du}{1 + u^2}}{\frac{5 - 5 u^2}{1 + u^2} - \frac{6 u}{1 + u^2} + 1} \times \frac{1 + u^2}{1 + u^2}$$

$$= \int \frac{2}{5-5 \, \mathrm{u}^2 - 6 \, \mathrm{u} + 1 + \mathrm{u}^2} \, \mathrm{d} \mathrm{u}$$

$$= -2 \int \frac{du}{4u^2 + 6u - 6}$$

$$= \frac{1}{2} \int \frac{du}{\frac{33}{16} - (u + \frac{3}{4})^2} =$$

$$= \frac{1}{2} \int \frac{du}{a^2 - z^2} = \frac{1}{2} \cdot \frac{1}{a} \tanh^{-1}(\frac{z}{a}) + C$$

$$=\frac{1}{2}\cdot\frac{4}{\sqrt{33}}\tanh^{-1}\left(\frac{4(u+\frac{3}{4})}{\sqrt{33}}\right)+C$$

 $=\frac{1-U^{2}}{1+U^{2}}$ 

\* Sin x = 2 sin x . Cs 2

= 24

\*  $4U^2 + 6U - 6 = 4(U^2 + \frac{3}{2}U - \frac{3}{2})$ 

 $2 - 3 = 4 - \left[ \left( 1 + \frac{3}{4} \right)^2 - \frac{9}{16} - \frac{3}{2} \right]$ 

= 4 [ (N+ 3)2 - 33]

$$\frac{1}{2} \int \frac{du}{a^2 - z^2} = \frac{1}{2} \cdot \frac{1}{2} t anh^{-1} \left( \frac{z}{a} \right)$$

$$= \frac{1}{2} \cdot \frac{4}{2} t anh^{-1} \left( 4(u + \frac{3}{4}) \right)$$

$$= \frac{1}{2} \cdot \frac{1}{a^{2} - z^{2}} = \frac{1}{2} \cdot \frac{1}{a} \tanh^{-1}(\frac{z}{a}) + C$$

$$= \frac{1}{2} \cdot \frac{u}{\sqrt{33}} \tanh^{-1}(\frac{u(u + \frac{3}{4})}{\sqrt{33}}) + C \cdot \text{ Eng. Mohammed Emad}$$

$$= \frac{2}{\sqrt{33}} \tanh^{-1}(\frac{4\tan(\frac{x}{2}) + 3}{\sqrt{33}}) + C$$

(6) 
$$T = \int \frac{d\alpha}{\sqrt{1-e^{\alpha}}}$$

Ans: Put 
$$u = \sqrt{1 - e^{x}} \Rightarrow u^{2} = 1 - e^{x} \Rightarrow e^{x} = 1 - u^{2}$$

$$e^{x} dx = -2u du \Rightarrow dx = \frac{-2u du}{e^{x}} = \frac{-2u du}{1 - u^{2}}, \text{ wen}$$

$$J = \int \frac{-2u du}{1 - u^{2}} = -2 \int \frac{du}{1 - u^{2}} = -2 \tanh^{-1}(u) + C$$

$$= \left[-2 \tanh^{-1}\left[\sqrt{1 - e^{x}}\right] + C\right]$$

$$(7) \mathcal{I} = \int \frac{dx}{x^2 \sqrt{x^2 + 2x}}$$

Eng. Mohammed Emad

Ans: Out 
$$U = \frac{1}{x} \Rightarrow x = \frac{1}{u} \Rightarrow dx = \frac{-du}{u^2} \Rightarrow x^2 = \frac{1}{u^2}$$
 Then

$$\chi = \int \frac{-\frac{du}{u^2}}{\frac{1}{u^2} \cdot \sqrt{\frac{1}{u^2} + \frac{2}{u}}} = -\int \frac{u \cdot du}{\sqrt{1 + 2u}} \quad \text{let } z = \sqrt{1 + 2u} \Rightarrow z^2 = 1 + 2u$$

$$\chi = -\int \frac{(z^2 - 1) \cdot z}{2z} dz = -\frac{1}{2} \left[ \frac{1}{3} z^3 - z \right] + C$$

$$= -\frac{1}{6} \left( 1 + 2u \right)^{\frac{3}{2}} + \frac{1}{2} \left( 1 + 2u \right)^{\frac{1}{2}} + C$$

$$= \frac{1}{6} \left( 1 + 2u \right)^{\frac{3}{2}} \left[ 3 - \left( 1 + 2u \right) \right] + C$$

$$= \frac{1}{3} \cdot \sqrt{1+2u} \left(1-u\right) + C$$

$$= \frac{1}{3} \cdot \sqrt{1+\frac{2}{x}} \cdot \left(1-\frac{1}{x}\right) + C = \left[\frac{x-1}{3x^2} \left(x^2+2x\right) + C\right]$$